B+ 2Y BB B R 2 i FF 2 (22 ) M18
SMEZR T (mm) M18x50 M18x50
M EEE(Sn) 5.0mm 8.0mm 8.0mm 15mm
REFR EA |3 BA B

2#3XDC 10-30V N.O.

IM18-M05DA-Y3U4/C50 |10 | IM18-FO8DA-Y3U4/C50

I1ZM18-M08DA-Y3U4/C50 (10| 1ZM18-F15DA-Y3U4/C50

22 ADC 10-30V N.C.

IM18-M05DB-Y3U4/C50 (11 | IM18-F08DB-Y3U4/C50

1ZM18-M08DB-Y3U4/C50 | 11| 1ZM18-F15DB-Y3U4/C50

2%£3XDC 10-30V N.O.orN.C.

IM18-M05DZ-Y3U4/C50 (12  IM18-F08DZ-Y3U4/C50

22 XAC 20-250V N.O.

IM18-M05AA-N6U4/C50 |13 | IM18-FO8AA-N6U4/C50

1ZM18-M08AA-N6U4/C50 | 13 | 1ZM18-F15AA-N6U4/C50

2% 3WAC 20-250V N.C.

IM18-M05AB-N6U4/C50 | 14 | IM18-FOBAB-N6U4/C50

1ZM18-M08AB-N6U4/C50 |14 | 1ZM18-F15AB-N6U4/C50

2% 3XAC 20-250V N.O.&N.C.

IM18-M05SAC-N6U4/C50 |15 | IM18-FO8AC-N6U4/C50

1ZM18-M08AC-N6U4/C50 |15 | 1ZM18-F15AC-N6U4/C50

2#%XAC/DC 20-250V N.O.

IM18-M0O5UA-Y7U4/C50 |13 | IM18-FO8UA-Y7U4/C50

IZM18-M08UA-Y7U4/C50 (13| 1ZM18-F15UA-Y7U4/C50

2#3XAC/DC 20-250V N.C.

IM18-M05UB-Y7U4/C50 | 14| IM18-FO08UB-Y7U4/C50

1ZM18-M08UB-Y7U4/C50 |14 | IZM18-F15UB-Y7U4/C50

NAMUR DC 6-12V

E R

_M18x1 _m18x1 M18x1 M18x1
(o)) ‘ o
< | ~ < | <
< 0 g, © S 1 3 o
R<tE(# A mm) s 3 = 2| s 8 = e
[ee) o) [ce] [ee] |
[te} LED(4x) [t} LED(4x) 0 O ' O[LED(4x) 0 O O[LED(4x)
° o o o o ety o2 [e
- e e —— -
M12x1 M12x1 M12x1 M12x1
& M 26 25(Sn) 5.0mm=*=10% 8.0mm=*=10% 8.0mm=*=10% 15mm*10%
Frkit 1~10% 1~10% 1~10% 1~10%
R R £518x18x1mm #24x24x1Tmm #18x18x1mm #45x45x1mm
PAE TS DC:800Hz / AC:25Hz | DC:500Hz / AC:25Hz | DC:500Hz / AC:25Hz | DC:300Hz / AC:25Hz
EERE <Sn*3% <Sn*3%
10 R R <DC:1mA/AC:3mA <DC:1mA/AC:3mA
W R <DC:200mA/AC:300mA <DC:200mA/AC:300mA
S8 B <DC:6V /AC:8V <DC:6V /AC:8V
Rip EERORIIFIRF; AEERARIADCHACE) | LHRECHMEIRP; HEEERIADCEACEK)
LED &R MIETRRAT(H &) HIERRAT (R B)
T1ERE(C) -25~+70°C -25~+70°C
RE R <Sn*10% <Sn*10%
#HERE(CC) -25~+80°C -25~+80°C
EEEEd Uk 50MQ B _E(DC 500VIKRRR), FoEE SRS AnSMTE 2 18] | 50MQ I _E(DC 500VIKERER), 78 B BREE i Fsh % Z ia]
EMC 5 A K HEEN60947-5-2 & KR HEEN60947-5-2
D274 IP67 IP67
EEAR A5TM1 23 $5 28 A5tM 127 32 32
LRS! ST A L3R 4 4 5540 T T A1 2B R ST A L3R R 4 SR A4S M T A4 b2 Y
& E:10,11,12,13,14,158 4 E S, EH057T. MBEHEHEMBDC 10-60V)iEEHHAF.

wooglwesT. |5k 7 L F R A PR 4 A



	Ò³Ãæ  1

